Cwiczenia 9

13 marca 2014
15:16

Oscylatorharmoniczny przezszereg

i & 1, 1
\zm_&f%JerXY: qu

—

&M <t om v R/rrCJ‘jM/\ , vty .,,IC-SIU‘/{/\
FW{‘AQ/‘D Ac Z/"\«d/y(/b\ bﬂ?’:\y/w{o"/@yb(/\

A

Y +“1((§b‘f2’t‘57 = O

I it
J\l ImE ko~ 'L) = G
j% 4/*(##’~%ﬂh\
o(’f/l: l’-&—/‘——m—- L: (E>—[’ﬂf‘ L":\Pﬁ{
4t R el
{
d -
v e ) <o
Cn—
X
4yl a-xt)= 0
At

d VY _ /“RIL rL{/
dat
2 L
\_'L’LL\
V= e
191
AN ‘{]7'_1\ \
CA\: ¢ (’4\
1 L/
1 o A TN
4 L : - ¢ =™ 0

Kwanty R 2014 Strona 1



m TENE
, 7
Ogtlwi!)l f\»{’ = N 0
+ 47 if{
A net 72N ~ T >
—I\: z /‘A’lk ¢ N ¢ qﬁ
2 +2,1 g ~ant
A/L&/:: /\4(/‘«~47"\A1 ZC’, T + N e 7 i’\‘J

Lo Twh e«j N
NN
= *{H]Q, N

IUM(\A—\\PW Ve CIM‘}C (\/U’-"&'\

- gy ~72
P ) —a e

4t L 4
1" ? ’

T A T

~4
+_LK<HL ¢

(NI

A

g - b~ H taH H(Q’ﬁl) =9
4o~ N eH(A) = O

W“‘y mzu\‘m\lﬁv/ rrgd‘f&‘
H,: /L\S( Q‘O’} &\,4"\+ &1’\’[ Ao, ) 0"070

‘L/( = 5’1(5‘1(0—5\%___) / T]S( o+ Zl‘l 0y _/_}\2A1)+__,./ =

—
—_

A ( O N L A AR R

:\”(ﬁﬁmmw+w%®@“ﬁww

1l S i A N

Kwanty R 2014 Strona 2



W' T )

+ HS’/’.( o, (e4n)+ 2y (s+2)+ 30\3\2(4”),__, ):
= 7\\?\2’ ( S(s=nlo, + ﬁ%*”\ﬂ

+ o, 1\1(,&2\6*/3 + on & (&+ﬂ(s+z)> *t, )

pa’\‘ﬂm"* uru{& 3/\1\4_91' R

I s(s~a) o> O
]\S~/] G"‘/BS le - O
\HS g N (,HZ)(J,M\ - 2 50\,0 - O\Q(Q\c/{)

'«\1(6}'1) (34n —0\.0(254/I~f/\> = 0

s ooy (44 9)le32) = Lo, (5#4) Ty O]

1

o (43) (5#) = o, (2573 °2) = O

VEQ Cvipe (-"*\/M)(ﬁv%n) - oy, (2s+ Zv”'*ﬁ) 2O

a Y‘Vé/k’ﬂlyf‘ =0 ~ s=/]

A"’“C)\U’ : ¢:O A% &.,\':O
/VCJ"—HYW\@ 1 M - Z_;+2\/—')—/l~ﬂc__
ouy Ervae ) (stvan)

S'H\j "\/(\_\(J’lL ~/ 3'7/"" fr’f‘&wq“{'& aujf\

MﬂL o e /wz/)ﬂcvtjﬂ‘@, T clmeroe

r
U Q'//]} &}/1"—-\ /V‘-\Mn(\ ON\'(/LC\C. ,

Qla S: 0 04 ]ﬂoﬂb)}n\.

Kwanty R 2014 Strona 3



s= A lﬂ AU }A%s?‘\

AJlﬁMYH LA‘\D (275
O g VO z
v

/V(;_ e Ay (Dj{ w b e g i zMF@:
(4 Vs ¢ Sl )
SWj SNSRI VRS (ﬂj o sl Tony

(TC clhncne I

N= 75+ 2v+/ 9AN~ VopeysR
(s=0 Lk 5":’1)

C17/(A-

’/\:; 2{\/\ + ((\1?—5 +\ ’)
,(\\/\Arj\,/\b{\f& L‘Hﬁ‘lqu
v NLregin
C’Iuj/{/n Qn/\/{/\f))l\c\
L8 [=7 L 2E G E
oK A ()

== @~<Zm+4)>~ ﬁk/(/w"!”g) M= 0y
X ', — ~ / ‘,l7|LJ
oM ’C(‘j szuwj ’EW . Crvuw)m Avgm WA oy 1 o

O:ATO'\A‘ C/‘f\]'\rc,t % R/J/(CV"‘-\ ‘ m‘j
Hf\/\ (”\\) - W"-X'&M:\C‘M HMMITO\_

HM’ Y\c‘«j)/'\*e, Lk N’:A?\ﬂjj"‘@ W e od vhbmgﬁ‘cs'z,{ M
v \
65(&0/\1{);, L\/T(Mc ¢ g H‘,L\ WJBQ/{A’DL }ﬂ/”?‘ /\/"(?\PC

Kwanty R 2014 Strona 4



65&0/\1[;; k/T(J\nanL Hm L"jﬁ“’(ﬁ"ﬂ- %1/4‘ /rn(D\Pc
Wy wefac (it #WM%M Cogph WUMJ w .

? l\LtZMHM/’
— ~ st [ 05 +a) s
25 = (g ) P g ey
95 "~
T2 AN
\V

21\ <H4‘I+l‘|) f’fml
2pnt1) H \u
A

Kwanty R 2014 Strona 5



Kwanty R 2014 Strona 6



)

jSCw) S(y,t) o

= oy £ B Bty

M o
I

,\/L

/\/\t"'\

Nes TM%MJ\?Q it ﬁ“‘ff\“y ) Sﬁqﬂz

-\ R A{(
g Hf/\) o T oo |SGIS(NAC 4 o
e °
T

L _
B :J@ J\
ZS"{‘ j’ ~ (\ §+ﬂ> W C/ZJ”]

j‘r}f(“\) [i\ Tl 2"

A~ ol
™ W27 p
OL .\?oZ_K/L
Y g, (e
T

Kwanty R 2014 Strona 7



(/\/0/045 < Cu@/{/L\luC\zvx,JL___,

L
Y

—lA- t } = Q)
QAP o%p\{’h (%) e

"‘—uwﬁ!\

AN

A > D = .
L d 7 =N\
- J_im‘g j‘(\ Ho(5) e
(A

55(“1 S AN -

0 SO e
\ klt'ff\'?vj rarc L\/l\]/vn ')7 }/b\j ,\_‘13

<4 (o))
3 }“ﬁ e

X"(-\) -~
jfx xte” j‘{x Qdm ~
= J‘Jxé —l—o\L)C >
(&
2 ,—X N = N !f ~
=W ot jk ¢ = ine £ -

M
,A(~‘L"
J}_C

Kwanty R 2014 Strona 8



al 6/1]‘ ml
(8
\An]
/QSX/L? T—q \ﬁ/ M I(MA_—_Z’):jL (M¢4L)

OJ Y (o [»(o«//vv\ ny Me/]/w; g,m"}vl? ; W%z
L p
‘—i’ii“\/(xl} Sy = By
(W‘AX’L

Wl g v Sl LR s B
7 \_Wgc U(‘_;L b ™
L C 2 A
- LT <t fa) =
2 v 27
- szk (i\:‘_r/i@ +'%ﬁm (U((WQ EMV)
A &> %( b V)vg):}Lm ),3\ W Seampe
(VL\ v "(‘6/'/' Y\,q Uy Wq
(N PP v A
<2 IR Ul

Kwanty R 2014 Strona 9



1
/Jx?_A(rL'>\% @ " (MLQB =

OxBp = F(mr 1)

WMy Bl A pedowvy ) yie
rLC]cr'Uf\ MQW((‘A% cr;(/:\ .

Kwanty R 2014 Strona 10



